TS O Rl QT Re’y THHT T3k 2¢ I, 2e2Y .
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TG SHHTh
BOOKLET NO.
R A [T 3188 — | 308477
TR 9% : 150
A% : 2 (F) T TERUTIUT : 150

LS
(1) He TEYfEahd 150 AFER T 3TRd. IHeariH e SW ferfgvama geard svanget a gwgfErsa
T e 31TRa oA g Areh @l e T, a8 I HIE A IMewedrd € TG quaahih g
Y S S, IS
(2) AT THAT-3FATER &N HehiTa A e ateraem fommeE. 7
S s T 30
(3) T DI TR AT T ITaIhaR fafirse Srft Swufrehadiet gemymm 3 fomre Tug .
() (37) T TYFEehdial Tedish STl 4 TR IR gafaell 30A &M 1, 2, 3 371 4 318 shuveh feoial
HTE. 1 =R IqUh! Fala A ITT FHHTH ITAPBIhaier YESHI oo STishel T |
HAST. T THR ITWRhR IT-3hHTh TG HLAFT a1 TaRId IIT-SFHThEER SHTH e
SRifereT TSt ATl SHIeSit ST, EehRAT el Shicel WTSe SieTud STaue, Uiel o W) ¥ a9 .
(F) TR S frearETet Wt s Sush wreaw fafga here o, wn fRrvaren yae uvE wE seR
RIS FErerTedt fHHioT STTeeTeil Yicht SIcaT, SHEERH Haitr J9- Uit SHidiel Te-ieh argd ugre.
(5) | YA THME T[0T 3Ted. IR T Yo I Areid. G3Hes IohT IV AT I SR Ueere Yo
Toqen 9T TR digaTad. AW U WS0 SR AR 99T TETET U9 FEUT STy &R 9% 9
FTSAT YITHS TA0l TS 3.
(6) mﬁ%qmm%mWulsmwm.zg%ﬁéw@@mﬁwﬁwmﬁmw
ATE. THUET G I TG hedd d IT TR TS el F AT FehreAT I T[0T IS Shel STl
(7) TEgA UHigrea SIS Hodieh hidFT SHEERISAT STRURRhdIel 2 It 101 foet e, o=t
A TS ITA N ISTeToan Teih YehieaT IAART 25% TSR 1/4 Ta 70T UHuT UTHE ot /it
RIETH

T IFAYRATS! STERTH fifea St 2o Tuui & Tgftert STRIFTER WIeTHR ST ot Udien Shatid SHearicl THerarsdl aowuara
QAT A SR, Tt ulien AR, SfereRa Shetelt, neieh ke s dufaeiell o s, Ty Jaevarel | faia
oS fAfer e Soet a1 seafee fomn oo shoTard v fofen foeh v sereom T, Previr T T drsare SR e
TTEUTR ATé febran Areferom i fean wrefarvare e SoR ) ; SR e “wERz s ulen (awfer uwia ufter) sftiEm-2024”
HEfiet TRGSFAR TR SR i U Sl THE U, S UTe SN et A6 Saer Yedie srrarEr fen snfor g7 e
T FHEET UT 28c. T g WeAyfeaehandt stmanT fafda Shetett 9o wavansnsh & syagftren srftigaaot s g
g1 TR T T SHRUTHI et AT ShHaigeTehl, aHe udisemn qdaeriiaeeiad sreht ald s sraifaeg e
fifraTaR FRaT v AEE o s R ae g,

gETES AT I iTaah =T Safaao assr=T a=Tr.
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1. shivrean Gem quTs gunesH gieemin giffaa 6, snyfies e g fosmmen s w67 amr
Tt & Ihal ?
(1) W H=G AEHG @H (2) Tt oW 31Ewg
(3) WM s THR WM (4) G ATEH

Which Muslim social reformer told the Muslim that they could achieve progress by
studying modern education and science ?

(1) Sir Sayyad Ahmed Khan (2) Mirza Gulam Ahmed
(3) Khan Abdul Gafar Khan (4) Sheikh Abbas

2. Wefie HIVIA I HET GHISETE! T8I g ?
(1) e 8%, dieur feos, ™. w. Ssh
2) #i. 3W. EEH, AT A58, W, W, W
(3) YR T, TE, TH, W3, . TH FeL AR
(4) i 988, T, T, TF, S U9 T8 e
Which of the following leaders was from the Congress Socialist Party ?
(1) Motilal Nehru, Lokmanya Tilak, S. M. Joshi
(2) B. R. Ambedkar, Motilal Nehru, M. N. Roy

(3) Jayaprakash Narayan, S. M. Joshi, Dr. Ram Manohar Lohiya
(4) Motilal Nehru, M. N. Roy, Dr. Ram Manohar Lohiya

3. g faumrEn femm s,
e () : ‘er 3US 93471 eR 3T’ § WkS UhAYH! forgdt.
faam (I1) : ama T et Tefien StaTEd S IR,
1) faum A1) sUs, (1) I
@ foum @) ==, A1 %
(3) @ fagm 9%
(4) T o™ s

Consider the following statements.

Statement (I) : ‘Dar ughad baya dar ughad’ this Bharud wrote by Ekanath.
Statement (IT) : Nath has appealed to Goddess Laxmi in this.

(1) Statement (II) is correct, (I) incorrect

(2) Statement (I) is correct, (II) incorrect

(3) Both statements are incorrect

(4) Both statements are correct

THEAT HIHETS T / SPACE FOR ROUGH WORK P.T.O.
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4. WY IO TRV TSTHAT TIRETE FITEh’ 8 999 & el 2id ?
(1) dreferg g S
(2) TANIG IvEaUE HOT
(3) Fesad Fw fraTes
(@) ferwE gt

Who among the following started the newspaper ‘Jagrook’ to promote the
Non-Brahmin Movement ?

(1) Walchand Ramchandra Kothari
(2) Dattajirao Yashwantrao Kurne
(3) Balwant Krushna Pisal

(4) Dinkarrao Jawalkar

5. e feT=a Teiaeh! IV TSR Heile TRATT TSATGrea] aTeer o ST ?
a. 1CS W&wEl S A 21 Fuia®d 19 99 ST ST
b. Feae i
c. <3 gawR FHrEE A AR W HR.
(1) asmforb
(2) aafre
(3) bamfure
(4) a,bafiic
Which of the following unpopular acts of Lord Lytton accelerated the growth of

Indian Nationalism ?

a. Maximum age limit for the ICS examination was reduced from 21 years to
19 years.

b. Ilbert Bill.

c. Vernacular Press Act and Indian Arms Act.
(1) aandb
(2) aandc
(3) bandc
(4) a,bandc

el THIHTETSI T / SPACE FOR ROUGH WORK
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6. STEmHE WG TEHAR WeeATETEd Welieish! v faam s A ?
(1) o B g A Teeaman gFuR g
(2) . SFAS S FEHHITT A WEeATq QR B
(3) FemrH FEPuR GIea U AT FAT 3 ol AR
(4) TeHAR B SerET Fare HR et feamn g

Which of the following statements about the famous Nandkumar case in Bengal is
incorrect ?

(1) Warren Hasting was the facilitator of the case
(2) Justice Elijah Impey acquitted Nandkumar in this case
(3) Critics have described the Nandkumar case as an assassination of justice
(4) Nandkumar was the Diwan of Bengal Nawab Meer Jafar
7. 3T SIS Al
a. TETE RIS i. deeft i THR we
b. TREg & i, e e qee
c. T F M@ i, ‘YRATIA g1’ A1 T A
d. = 9. m. s iv. fenfies aftyeeh wom
v. &im ffes #ig 9 e 3 T=R
a b c
(1) 1 i i1 %
(2) iv 1
(3) 1 11 1 v
4 1w w1 v

Match the correct pairs.

a. Dadabhai Naoroji 1. Testimony before the Belby Commission
b. Rameshchandra Dutta 1. Member of Royal Commaission
c. Gopal Krishna Gokhale iii. Wrote a Book on ‘Famine in India’
d. Justice M. G. Ranade iv. Establishment of industrial conference
v. Translation and spread of Famine Relief Code
a b c d
(1) il i 11
(2) 1iv 1i1 1 \%
3) 1 11l 1 v
(4) 11 v 1 \%
el HHETS ART / SPACE FOR ROUGH WORK P.T.O.
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HAR AT iR Geearase Wiefier faam .

a1 : IR Teme) SRR HTe HEIR i TR T H 2.
faem 11 : st S weeamed wd e feiy geet g,

(1) faum I = 3/ 11 SO 38

(2 faum 1 3nfor [ S seR 3trea

(3) oo I ster 3 11 =% 3R

(4) foam 1 anfor 11 St s ammea

Read the following statements about the Kanpur and Mirat cases.

Statement I : The complaint filed against the trade union leaders of communist
party in both cases.

Statement II : All the leaders were acquitted in both the above cases.
(1) Statement I is incorrect and II is correct

(2) Statement I and II both are correct

(3) Statement I is correct and II is incorrect

(4) Statement I and II both are incorrect

9. WiHg dIFAfeR TS =t Getid @refier faum e e =he=h /2 faam /3 fee.

a. HHHSET S0 ThT Eefin feard Frel

b, AR SSRTETAT SHEHTER ATav Eedl

c. WA “UTfva=aT Qerssr=y &A1 sheft

d. WEIEH TeatE @R 91 TarSsTEl AT et

(1) faum a 3nfor d 9% 3m (2) Taum wa a T 3R
(3) faum wa d =5 M2 (4) faum a 3mfor ¢ g% 3mR

Read the following statement about the famous folk artist Saganbhau and choose
the incorrect statements.
a. Saganbhau born in a Muslim family.
b. He wrote the folk song (Lavani) on Bajirao’s life.
c. He wrote the Powada on ‘Panipat battle’.
d. He wrote the Powada on ‘Khardyachi ladhai’.
(1) statement a and d are incorrect (2) only statement a is incorrect
(3) only statement d is incorrect (4) statement a and c are incorrect

FHeedl HHTETS AR / SPACE FOR ROUGH WORK
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10. g MEEUE TIERAT TA, T Gediel Hiven Haten gl §a FHemge I geer aute e
feett 2
(1) T (2) TRET
(3) AP (4) BB

Which Saint of the nath sect initiated into Islam by Sufi Saint Nizammuddin,
according to the Setu Madhavrao Pagadi ?

(1) Gahininath (2) Gorakhnath
(3) Nagnath (4) Kanifnath

11. ‘@mEr I guthg mdt foamer feresia ot st & 2

(1) TwEE Fem (2) . TR e

(3) HHATH AN (4) TARH ST

Who directed the famous Marathi movie, ‘Saamna’ ?

(1) Ramdas Phutane (2) Dr. Jabbar Patel

(3) Kamalakar Torane (4) Shantaram Athawale

12. semHiel St afeey g fafay Samamemaa refie faum amn.
a. STl I3 S, IR, HIAT T GATATS ST GHTET Bl
b. HUTATS &M UM eIy e+l e SAHEHS A1 HIETd hal AT3.
d. fry e wrfien s S .

(1) I a, b 3T ¢ S 3R (2) I a IMOT ¢ TR R
(3) T a, b M d S 3R (4) W a, ¢ M d TS 3R
Read the following statements about the various uprising against company power
in Bengal.
a. The revolt of Sanyashis, Chuara, Kolama and Santhala included the uprising
in Bengal.
b. In Bankimchandra Chatterjee novel ‘Anandmath’ describes the Santhala
rebellion.

c¢. Brother’s Kanhu and Sindhu led the Santhala rebellion.
d. Khasis rebellion had lead Tirath Singh.

(1) Option a, b and c are correct (2) Option a and c are correct

(8) Option a, b and d are correct (4) Option a, c and d are correct
FHoH KM ART / SPACE FOR ROUGH WORK P.T.O.



13. ST 9T A1 HES=AT AER Afie ariier GReHTETE €F. IETERe SashiH! fee W
/U 71 UY 8.

(1) %2 39 sfen

(2) Teou 1 fggem

(3) Tl gt (TR 31T H)
(4 Tz HWEA 7

book is based on the Presidential speech given by Dr. Babasaheb
Ambedkar at Lahor on the occasion of yearly gathering regarding Jat Pat Todak
Mandal.

(1) Caste in India

(2) Riddles in Hinduism

(3) Annihilation of Caste
(4) Who were Shudras ?

14. g w@ad fowft arn 3 st @ty faer
a. W3 WS M ‘ST’ A7 MG ‘TR’ Ty T e,
b. SICTHE T STOIGAT St TS BTeheld Ul & YOGS USe TTO OO 27

TSaSTE 3¢ BNl
c. fommEn T GEATT JETEl T@des gE e,
(1) a%ad (2) adb
@) bwE (4) cEH

Read the sentences about Wahhabi Movement and choose the correct option.
a. Saeed Ahmad established the ‘Wahhabi’ sect in the village of ‘Bareilly’.

b. The aim of the Movement was to oust the British rule established in Bengal
and establish a Muslim State.

c. Wahhabi Movement started in 20th century.
(1) aonly (2) aandb
(3) bonly (4) conly

FHeedl HHATATS! ST / SPACE FOR ROUGH WORK
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15. 26 I, 1876 Jsft GgATy s I ST A “Sfea STEfeEE’ A1 Hees T hefl Wy
71 gue ufgd Ashedt BT BId ?
(1) g it Fam = (2) 3T HE T
(3) 3iferp =IO THER (4) SATHEA WY

‘Indian Association’ was established by Surendranath Banarjee in Bengal on
26 July, 1876. Who was the first secretary of this Association ?

(1) Babu Shishir Kumar Ghosh (2) Anand Mohan Ghosh

(3) Ambika Charan Majumdar (4) Lalmohan Ghosh
16. I ST ATE.
a. TW Seft [. SeYe TITU qF AT Higen T@=are
b. TEAH I1. ool aeumoreh ¢, i AT SSe, e © S Hob
c. HHWS I11. e gEer IR e AT Hd 9x
d. BMi ST IV. wehuen 9 faateft %o svau a’d

a b c d
Q) I Ior 1Iv I
2 IV II I I1I
3) III I II v
4 I II III v
Match the pairs.

a. Ram Joshi 1. Latpat Latpat Tujh Chalna Mothya Nakharyach

b. Parashram II. Zali tarunpanachi dhul, pati nahi sejewar,
sundara rade mul mul

¢. Saganbhau III. Nirmal mukhda Chandrakar saral nakachi
shobhate dhar

d. Honaji Bala IV. Lekrala May visarli kasa Eshwara Tar1

a b C d

1O I I Iv I

@ Iv 11 I II1
(3) III I II AY
4 1 ir I 1Iv

FHHT HWMEE AN / SPACE FOR ROUGH WORK P.T.O.
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17, =P R T ST i e e S SR s e -

(1) ™ IcH AHH (2) @S Ifheis

(3) g Hfm (4) W N AR

Which British Officer entered the forest and brought to prominence of Ajanta caves ?
(1) Sir Charles Metcalfe (2) Lord Auckland

(3) Lord Canning (4) Sir James Alexander

18. TUSHTAT T HagR HaT faer oM feeseh gafa ik a1 Seorg 1 TEUH HE BN 7
(1) T e (2) ATE FEURR
(3) e b (4) W afm

Tilak party people who opposed the separate electorate of the Marathas were referring
to themselves as what ?

(1) National Maratha (2) We Non-Brahmin

(3) We Kshatriyas (4) Maratha Kshatriyas

19. Gl guifactean fagiameht sivrar fagra el TmmimEm wegan ?

a. Thar fsar

b. wrzy v ffifa T

c. U Y&y

d. YETREETd

(1) a3nfr b (2) c amford (8) ®H a (4) wH b

Which of the following doctrines was not of Prarthana Samaj ?
a. Loyalty to one God
b. Scripture is not created by God
c. National resurrection

d. Pastglorious

(1) aandb (2) candd (3) onlya (4) onlyb

THeeA1 HIATETS! ART / SPACE FOR ROUGH WORK
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920. 1877 =41 feechl TERA HIESIh Hlhi=al Agear@rell qor Fte qv=n Rrengan wgrf
frRifEmen 3 Ame feot = i |9 el ?
(1) feweiem 31 TseH () few TEeH
(3) sfeam Tere elagie (4) A feare

What was the name given to the ‘Manapatra’ given to Queen Victoria by delegation of
the Pune Sarvajanik Sabha led by the Sarvajanik Kaka at the Delhi Durbar in 1877 ?

(1) Declaration of Rights (2) Indian Rights
(3) Indian National Document (4) Nation Demand
21. Sl AL
ELEE HaEH

a. 3IA TR b I. gom=m 3T

b. 3fem I1. Sff. . =i

c. fegwr I, T T &

d. f&g V. firfegar @iy 3 midera 9

a b c d

1 1 1O O IV
@ I T IV I
@ I Iv 1 1II

@ Iv III 1I I
Match the following.

Newspaper Editor
a. Amrut Bazar Patrika 1. Subramanyam Ayyar
b. Indian Mirror II. G.P.Varma
c. Hindustani III. S. N. Sen
d. Hindu IV. Shirishkumar Ghosh and Motilal Ghosh

a b c d

1 I I III v
@ 1 Imr  I1v I
3 M 1Iv I II
4 Iv 1III 1I I

FHHT HAEES AR / SPACE FOR ROUGH WORK P.T.O.
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22. Wied IUN SV 3R 7

a. S 7 Aregsl 1858 HE HTeAI.
b. ufgean gfcrear fuarer vt fuash
C.

12

foas.

‘T WA A6 3fear TE=AT T G,
d. #. meisi=n sEer gsadig faQy.

(15 AT AUd T
(3) faf=g o

Whose description is as below ?
a. Born on 7 November, 1858.

2) <R e
(4) HIEEE AT

b. His second marriage with widow after the death of first wife.
c. He was written a book “The Soul of India”.

d. He opposed the Non-Co-operation Movement of Mahatma Gandhi.

(1) Lala Lajapat Rai
(3) Bipinchandra Pal

(2) Lokmanya Tilak
(4) Keshavchandra Sen

K19

23.

EICCIRSIEIR
ACHBR
a. Tfde TeNT 29
b. T
c. M T
d. TR gasd

a b c d

1) I Imr 11 v
@ v II 1III I

3 11 1v I IT
4 II I Iv. 11

Match the following.

A Dramatist

Govind Purushotam Deshpande
Gajvi

Sham Manohar

Ratnakar Matkari

a b c d
1 I I 1 v
2 1V II 11 I

3 I 1v I II
4 1II I Iv. 11

o TP

qigh
I. % T 78
IT. =R qroft

1. a%a
IV. 3wed gusmer

A Drama
I. Lok Katha 78
II. Ghotbhar Pani
III. Yakrut
IV. Udhvasta Dharma Shala

oAl HIATETS! AR / SPACE FOR ROUGH WORK
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24, s Ja41.
a. HEE Al I IW I
b. T @ II. e
c. ot e g yfarer | III. s
d. T9EH "ER! IV. WErrsg
a b c d
1O 1Iv I 1I I
2 I I III 1Y
3 II | v 111
(49 III 1V | II
Match the following.
a. Kayastha Sabha I. Uttar Pradesh
b. Sarin Sabha II. Punjab
c. Sri Narayan Dharma Pratipalana Sabha  III. Kerala
d. Paramahansa Mandali IV. Maharashtra
a b c d
1 Iv I 1II I
@2 1 I 1III v
3) 1II 1 v III
@ III1 1V I II

25. TEIel UM v THS GURHE! Jeoid Hell HTe ?

a.

b.
c.
d

18 SIHET 1842 TSt &= S+ STl

1856 W=t -1 HiegrgX A frager v,

1856 7 A gudd AT I T SHIeE Hel S Hadl.

1864 el wy.u =t wha AT 1866 TE ol e .= wliET urE Hewret S AaTeT
TeTel TUEhTCE] HT el

(1) fa. . i (2) M. 7. WgE
(3) H. M. T (4) T. M. ATBRH

Which social reformer is mentioned in the following sentences ?

o TP

He was born on 18 January 1842.

Till 1856 he studied at Kolhapur.

In 1856 he came to Bombay and joined Elphinstone Institute.

After passing his M.A. examination in 1864 and LL.B. examination in 1866 he
served the government in various positions.

(1) V.P.Pandit (2) G. H. Deshmukh
(3) M. G. Ranade (4) R.G. Bhandarkar

FHTHT HMMES AR / SPACE FOR ROUGH WORK P.T.O.



26. AT SIS ATE.
a. #iure 3a =M
b. HFFR A

@
)
3)

(4)

v 1 111 v
v 111 1 \
\% v 1 1
111 v 11 v

Match the following.

a.

b.

(1)
@)
(3

@

Shripad Amrut Dange
Muzaffar Ahmed
Ghulam Hussain

M. Singaravelu

a b c d
v 1 111 v
v 111 1 \%
\% v 1 i1
11 v i v

14

11.
1.

1.

11.
1ii.

1v.

K19

AT - T

99 %e

Inquilab
Labour-Kisan Gazette
National Front
Navyug

The Socialist

oAl HMTETS AR / SPACE FOR ROUGH WORK
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7.9, 1882 TE TR Sholedn 8T M Shivre frewefi e g ?

a. TR GHHURl FAEH 9 T EH 378N JhRE! IIeH Yad! .
b. TS TEIEEETdl (Sehicush) TR SARATHRA JTETE.
. fororeh SRS T FE qER o,
d. Fremeffen withes anfor Ao Rrgomer s v A
(1) a, c, dfaum st mRa (2) a,b, cfaum T FwRA
(3) b, c, d frem = ITRa (4) a,b,c,dfFum T RA
Which were the recommendations of Hunter Commission, 1882 ?
a. Provision was to be made for ordinary grant and special grant to colleges.
There were to be alternative courses in the big colleges.

b.
c. New regulations regarding scholarships were to be framed.
d. The commission put emphasis on physical and mental education of the

students.
(1) a,c, d statements are correct (2) a, b, c statements are correct
(3) b, c, d statements are correct (4) a,b,c, dstatements are correct
28. WA FEAshoi=al <gETE SR H gl ?
a. fdTe o= AT AiGe AT ST T e,
c. SIS MTET TR0 canyfeh Fafaeiia aea T TRt gaehcrst Scared g wrehedl
RIS
d. W SRR FIA TR
(1) a,b, dfyum st MR (2) a,b, ¢ faam s MR
(3) a, c, d faem st 3mRd (4) b, c, d fgum U= mRa
What was the reason for the decline of Indian Handicrafts ?
a. The installation of large-scale industries in India by British Companies.
b. The British policy aimed at giving protection to the industrial goods made in
England.
c. Indian Handicrafts could not stand in competition with the sophisticated
machine-made goods.
d. The Indian workers were not skillful.
(1) a, b, d statements are correct (2) a, b, c statements are correct
(3) a,c, dstatements are correct (4) b, c, dstatements are correct
FHoeH1 HHTETS ART ]/ SPACE FOR ROUGH WORK P.T.O.



29. 3.9. 1866 Ted TS NUSTN TR TeaR F=! HoamEet iy frdmeg wswe srevemard
ST Y HIT FECIAT TR oA 7

(1) 3= 3o swfauem
(2) ST U

(3) fordtw sfem srmfoaem
(4) st SR~ srEfieeH

In 1866 Dadabhai Naoroji organized which association in London to discuss the
Indian question and to influence British ?

(1) East India Association
(2) Bombay Association
(3) British Indian Association

(4) Bombay Presidency Association

30. 24 SRl 1908 TSt ARIEH AN Fetedn WINUITG @’ &1 forve e 3g7 s Rrawh
TENIS, HA R HTMO Haq THGH FTeaT ST TR Hioft et ?

(1) ea e
(2) TGS TOIYT AR
(3) awfeg =

(4) fodfeegare

Who honoured the Chhatrapati Shivaji Maharaj, Saint Tukaram and Saint Ramdas
in his important speech on ‘Swarajya’ at Nasik on 24 January 1908 ?

(1) Lokmanya Tilak
(2) Gopal Ganesh Agarkar
(3) Arvind Ghosh

(4) Bipinchandra Pal

HHT HITETS AT / SPACE FOR ROUGH WORK
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feafim
ot waan

RSIIESE )
d. v

(1) b,c,d

o TP

(2) a,b,c

3) a,cd (4) a,b,d

Which of the following newspapers opposed policy and thinking of Rajarshi

Chhatrapati Shahu Maharaj ?
a. Dinmitra
b. Vijayi Maratha
c. Jagruk
d. Prabodhan

(1) b,c,d (2) a,b,c

3) a,c,d (4) a,b,d

K19

31. Grefierdehl SIvrdt Faus T BAIA Mg AERSToA gonn & feemn faly e @t 2

32.
a. ITAUT UeaHH
JFEU IEF A

G Fuert

CICIRUE LS
a b

(1) <cH YA
@ I FE
@) I HE
@ & G

b.
C.
d.

1424
A48

et T AR Fv w2

Which code names were given to the following freedom fighters ?

a. Achyutrao Patwardhan

b. Aruna Asaf Ali

c. Sucheta Kriplani

d. Baba Raghavdas

a b c

(1) Kadam Kusum Dadi
(2) Kusum Kadam Didi
(3) Kusum Kadam Dadi
(4) Didi Dadi Kadam

Didi
Dadi
Didi

Kusum

FHTAT HHATS! AN / SPACE FOR ROUGH WORK

P.T.O.
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33. UfTam TR SiTel g ‘feheat TRU[ shivmeT Juuard et & ?

(1) et Usd
(3) 3T UeaHH

(3) Achyutrao Patwardhan

(2) TH. TE. TR

4) {HhWICTH HENTS
Who was appointed as ‘Dictator’ of Forest Satyagraha in Western Maharashtra ?
(1) Lalji Pendse

(2) S.S. Navre
(4) Ramakrishnadas Maharaj

34. A SIS ATE.
a. WRAET 9NEE e, 1892
WA 9iEe $rREr, 1909
(et -Tifel gamen Hrer)
c. Tie-%IE URT SRS, 1919
d. WRd GUhRET ®rEE, 1935
a b c d
(1) 1iv v 111 1
2 i v 11 11l
3 1 111 1 v
4 1 v 1ii iv
Match the following :

a. The Indian Council Act, 1892
b. The Indian Council Act, 1909
(Morley-Minto Reforms)

¢. Mont-Ford Reforms Act, 1919
d. The Government of India Act, 1935
a b c d
(1) iv A\ i1l i
2 i v ii iii
3 i 111 i1 v
4) i ' 1ii iv

il.

1.

1v.

fHHeITER HaeHEn IR A8

MIGICIRE RSB HE
A FygrRETeral SicdTe

1. No right to vote on budget.

1. Separate constituency to Sikh’s.
1i. Granting provincial autonomy.
iv. Foundation of provincial
legislature in Bengal.

v. Encouragement to Muslim
communalism.

HEH1 HHTAS! SR / SPACE FOR ROUGH WORK

A
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35. 3. 9. 1917 W& ‘AR AT WReHTd YaS, HEAYd, S=gT8 3T Retre nHfiel Audt wiftes
weeat ferefiiehtTan e Harrsgrean ffifdan fomm yeum wioft aigen ¢
(1) YSIUTHR 3R (2) T AHA YIAER
(3) . A. HIEEITHT (4) . fagd I AU
Who was the first to propose in 1917, through magazine ‘Lokshikshan’ a creation of

United Maharashtra by merging the Marathi speaking region of Bombay, Madhya
Prant, Varhad and Hyderabad ?

(1) Prabodhankar Thackray (2) Datto Waman Potdar
(3) G.T.Madkholkar (4) Prof. Vithal Waman Tamhankar

36. TEHIET SIS @l
(1) Hd gopsiet el -~ SaH Aefier fovaed aftwed wiar it
(2) YHIUAHNH SR - ArhiRadrel M. §. wHE sy
(3) THISVYY ST 3WS - 1985 WHH YW I+

(4) IS " ~ 1952 WA $Hh THTSITE TTIAT
Identify the incorrect pair.
(1) Sant Tukdoji Maharaj — India’s representation at World Religions

Conference in Japan
(2) Prabodhankar Thackeray - Disciple of Lokhitwadi G.H. Deshmukh
(3) Samajbhushan Baba Amte — Awarded the Magsaysay Award in 1985
(4) Punjabrao Deshmukh — 1952 establishment of Bharat Krishak Samaj

37. TAhIEadTe! MU BN SIE AT ST6d Wieleideh! Sivrd/dt faem /3 st smea ?
a. ‘TFAYHRY, SOEHT G& bl
b. ‘TSR TGS FTAfI.
c. 3. 1862 Wl UM ‘SR HIKNEHh Y& HUAH JgThR Haeh el
d. 3.9. 1880 W& ‘TH{ZAAEY B W & el

(1) b, ¢ 37T d ST (2) a,c 30T d IR

(3) a,b 37T d W= (4) a, b 3701 ¢ SR

Which of the following statements are correct about Lokahitwadi Gopal Hari
Deshmukh ?

a. He started printing press ‘Dyanprakash’.

b. He published weekly ‘Dyanprakash’.

c. He took initiative to start ‘Induprakash’ weekly in 1862.
d. He started ‘Lokahitwadi Magazine’ in 1880.

(1) b, cand d are correct (2) a, candd are correct
(3) a, bandd are correct (4) a, b and c are correct
FHeHT HHETS AT / SPACE FOR ROUGH WORK P.T.O.
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38. 1942 UEY Sa AETETRE SFTHSHT AT BT R TE e HriTH HEa[ HvaTd
I 7
(1) & U et @) e femfaem
(3) Tomen afde (4) s g
In 1942 Dr. Babasaheb Ambedkar was appointed to the Viceroy’s Executive Council
on whose recommendation ?
(1) Sir Roger Lumley (2) Lord Linlithgow
(3) Vinston Churchill (4) Dr. Munje

39. 1957 = frasvEhIgdt gt o s faarma v mifdiue safaen gar @ vt w2
(1) SrHaEETS! HagH (2) TH= 7 IR
(3) U ot Uk Uq (4) TR A9 qES AR
What was the title of a documentary made by the Department of Information and
Broadcast before the 1957 elections ?
(1) Vote for Democracy (2) This is Your Vote
(3) One Person One Vote (4) Your Vote Your Government

40, TS w0 Gie i PRl SR T Tt SavaaTd) ) T A el 2

(1) R Hifer anfr fgwe
(2) afeAT s afied
(3) UEWS AN HSS

(4) fegeart & o=

What was established to better plan and organize civil disobedience in Bombay ?
(1) War Council and Dictator

(2) Civil Disobedience Committee

(3) Maharashtra Satyagraha Mandal

(4) Hindustani Seva Dal

HTHN HHEE A / SPACE FOR ROUGH WORK

A
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41. YR 9T Hneed fofeeft sma ?
a. Tagd TSIUTA 4 HIehH AT AT Fet< I ¢ hoa™ o Td g hldicl 318

= feo.
b. A 318 AT i THRA Tl 7Y fogTd Hrier HUer 9 9 IRatd deF Sn] .
(1) <RI 9. qEght (2) frsmmedt favee
(3) SHTETY IHWIC (4) <h1. . deiT

The following sentences are written about whom ?
a. He promised John Malcolm, the Governor of Bombay that he would co-operate
with the Government to put an end to the practice of sati.
b. He also suggested that the Government should make law against the practice
of sati and it should be applicable through out the India.

(1) Dadoba P. Tarkhadkar (2) Vishnushastri Chiplunkar
(3) Jagannath Shankarshet (4) K.T.Telang

42, GATAUH! IFTH IS ANSEl.
(1) i SerERe 3eeH I dex ol 31w sfearh e seft — 1935
(2) . IEERE JESH T VSIS B HSWHH TATHT heft — 1940
(3) Si. IETETRS TESHU HETS HAWETE! Hd Sepefl — 1937
(4) Tf. TEHIEE HHESH A HIBUH Hiet SRR Gl hel — 1936
Choose the following correct pair.
(1) Dr. Babasaheb Ambedkar established the Labour Party of India — 1935
(2) Dr. Babasaheb Ambedkar established the Schedule Caste Federation — 1940
(3) Dr. Babasaheb Ambedkar won the Mahad Satyagraha Case — 1937
(4) Dr. Babasaheb Ambedkar opened Kalaram Mandir for untouchables — 1936

43. 3.9. 1935 =T YA ThR FETHHR Gieiicies! fETe $rerss seced yiard fiag #a.
(1) afn, smam, fay, fHEr, qe8, T aEe T
(2) I=E, i, faegr, s, §ged Tid, AE, AEm
(3) S, HYH Wid, IEH, UgE, 4§, faEn
(4) g, InfEn, aEer atge vid, 9e, by, faer
According to the Government of India Act, 1935, select the provinces from the
following which has bicameral.
(1) Orissa, Assam, Sindh, Bihar, Mumbai, North-West Province
(2) Mumbai, Orissa, Bihar, Bengal, Sanyukta Province, Madras, Assam

(3) Bengal, Sanyukta Province, Assam, Madras, Mumbai, Bihar
(4) Madras, Orissa, North-West Province, Bengal, Sindh, Bihar

HTTHT HHTEATS! AN / SPACE FOR ROUGH WORK P.T.O.
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CIGIGRCLICICI i

faam - A : fofew wwer anfor seenfieme aummand) et g smmEa orft g=m
TS SR AT e,

faum - B : &S sqEEi=n gengEr Gefiee TEed WUH ‘g Uees’ T T HuEd ST,

(1) Taam A 9% 3n faum B st 3mme

(2) faum A 3nfor B ) sl 31mRa

(3) faum A anfor B Sl = 3ma

(4) foum A sUet sy faum B = 38

Read the following statements.

Statement — A : Lord Dalhousie suggested that there should be association of Princely
States for the co-ordination between the British Government and
Princely States.

Statement — B : On the suggestion of Lord Dalhousie, ‘Narendra Mandal’ was
established as a association of Princely States.

(1) Statement A is incorrect, statement B is correct

(2) Both statement A and B are correct

(3) Both statement A and B are incorrect

(4) Statement A is correct and statement B is incorrect

45.

WTCCTIeh! I TEUTST G e SHTerey Jofl TN Aqed el ?
(1) AR ST

(2) TS et T3TS

(3) STCT Harit ATfet

(4) 3mardt fem

Which of the following youth armed organizations led the Bangladesh Liberation
Movement ?

(1) Aamar Bangla

(2) Bangla Liberation (Mukti) Movement

(3) Bangla Mukti Vahini

(4) Aawami League

46.

HETCHT ST “Her[R” &1 W16q hivil Gafae Fal HaTed Mt Herg s “ammg” s
ITeg, sAfAET ?

(1) feuere meh (2) wfeTer meft

(3) wHeATe TMeft (4) #ft. Treeh R

Who suggested to Mahatma Gandhi the word “Sadagraha” and afterwards Mahatma
Gandhi changed the word “Satyagrah” instead of Sadagraha ?

(1) Hiralal Gandhi (2) Manilal Gandhi

(3) Maganlal Gandhi (4) Shri. Walaji Desai

HTH BTSN AN / SPACE FOR ROUGH WORK

A
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“Iyelt Hed fiesfavaren Ievm gftem formm waa @ TnTers v ®uTd qiadia el 3R,
Freft fevuuft ot Heft Bt 7

(1) <. SeTERd TEsH (2) TER ToavdTE T

(3) wgTe mefisht (4) ufga SaERETT EE

“The Muslim League pursued their aim for British support and tried to establish
themselves as the kings party”, Who remarked on Muslim league ?

(1) Dr. Babasaheb Ambedkar (2) Sardar Vallabhbhai Patel
(3) Mahatma Gandhiji (4) Pandit Jawaharlal Nehru

48.

firg w8 grreRt nfoT ekl ded A9 ‘RRg B Tw doae’ € TEeT ST Sheft A1 Tt
TR WA Ia3adid Sivfl shel ?

(1) TR ferett (2) St fgare

(3) . wivafie dem (4) oA R |y

Sikh bus drivers and conductors established ‘Sikh Home Rule Movement’ in London
but who transformed the movement in Khalistan movement ?

(1) Gangasing Dhillon (2) dJarnalsing Bhindranwale
(3) Dr. Jagajitsingh Chouhan (4) Amritpal Singh Sandhu
49, e faummn fem *u.

I Sresemedt S 3 afean fRgeamidial afga STeamaes gid.

II. =gt deim g gad foemdior ufeel W $errs 8.

III. 3. 9. 1915 aefiet Usdia e gag Stfteeem &l RReHiT greet =1 J&ad AigaT gidl.
(1) faum I3, 1T 3mfr 11T s

(2) faum I sQsr, 11 3ufon 111 5

(3) faum I 3nfor 11 5, faum 111 sts

(4) Taum I et I SO, 11 9%

Consider the following statements.
I. Balshastri Jambhekar was the first Professor from West Hindustan.
II. Justice Telang was the first Indian Vice-Chancellor of Mumbai University.
III. Lokmanya Tilak kept the Home Rule proposal in the Indian National Congress
Session held at Mumbai in 1915.

(1) Statement I incorrect, II and III correct

(2) Statement I correct, II and III incorrect

(3) Statement I and II incorrect, 111 correct

(4) Statement I and II correct, III incorrect

HESAT HHETASI AW / SPACE FOR ROUGH WORK P.T.O.
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HENTSZT GoehTes TSeT 37T &f. TRramoar = firr=an wee+ amepadl A9 anferfiams o warem Sidien
Fot A Hivre aut TR ST gE el ?
(1) 1896 (2) 1877 (3) 1898 (4) 1899

In which year Savitribai and Mahatma Jyotiba Phule started the ‘Victoriya
Balasram’ in Dhanakawadi with the help of friend Dr. Shivappa during the
famine period in Maharashtra ?

(1) 1896 (2) 1877 (3) 1898 (4) 1899
51. faum -

Rrem wEIcE WS A HI ? A9 GE ol

ol -

a. % IOUF 1922 ™ ¥ .

b. 2 O TR UEEr feme €.

c. 1908 WE A7 JATAN TSI TR Ui BUEAT ITHET IR Hedl.
d. ¥ IO9F ‘FAfEdeg’ SO BT S &id.

(1) foum st 3ng, quiH a HR 3/E b, ¢ 31T d SR 3R
(2) faum s a1z, IvH b IR I a, ¢ T d SR 3112
(3) Taum sU=R 31, Tvi b, ¢ IHR I a 1T d S 3718
4) Wmm,Wb,d?ﬁ%Wamcwm

Statement -

Shivram Mahadev Paranjape started the newspaper ‘Kaal’.
Descriptions -

a. The newspaper was published upto 1922.

b. The newspaper was intense Nationalist ideas.

c. The newspaper printing crossed the number of sixteen thousand copies
in 1908.

d. The newspaper was printed by ‘Jagthitechhu’ printing press.
(1) The statement is correct, description a is incorrect while b, ¢c and d are correct
(2) The statement is correct, description b is incorrect while a, ¢ and d are correct
(3) The statement is correct, description b, ¢ are incorrect while a and d are correct
(4) The statement is correct, description b, d are incorrect while a and ¢ are correct

THeedl HIITETS! ST / SPACE FOR ROUGH WORK

A
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52. 7 L, 1947 ¥ feo@ “urd duma anfiet s fegm” v et 3@ T
(1) T o el
(2) HIRFY S
(3) ISTHIES WU
(4) wfiseg TS

called upon the people of Hyderabad Sansthan to observe 7t August,
1947 as “Joining Day to Indian Union”.

(1) Swami Ramanand Tirth
(2) Kashinath Vaidya

(3) Babasaheb Paranjpe

(4) Manikchand Pahade

53. WAl faum e :
a. 3.4. 1909 A=Y Hgrean mefisht A fafaoien “fée woe” &1 ot v Ty eeiiRa
ST
b. TETH Mefisfea Jomm FgSiel STEdHT 20 SN TaRdE Faid TEH SR 38 AS
(1) a U A b UK
(2) b SUS TTE a WS
(3) a R b s
(4) a 300 b gH

Observe the following sentences :

a. ‘Hind Swaraj’ written by Mahatma Gandhi published in Gujarati language in
the year 1909.

b. After the death of Mahatma Gandhi while paying the tribute, George Orwell
Said : ‘The Great Man of the 20th Century’.

(1) ais not true b is true
(2) b is not true a is true
(3) a and b are true

(4) a and b are not true

HEeAT HETAGS T / SPACE FOR ROUGH WORK P.T.O.
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S 1984 AL HIUTAT qARGTSH Gavi HiCUEN okl HRATS Hoad 3efl ?

54.

(1) . 3. Irf
(2) T F
(8) . WH. W R
(4) TE I

26

In June 1984 under the leadership of

Golden Temple.

(1) S.E. Joshi

(2) Ramanath Kaw
(3) K. S. Brar

(4) Ranjan Roy

K19

Military operation was done in the

55.

Gﬁww:

a. TH. §H
b. HHATA qATES
c. B WeM

d. ¥R amTrE sh
a b c d

1) 1II I 1\Y III
2 IV I II 111
3 I 11 111 v
(4) 1III 1A% I II
Match the following :

a. R.S.Ruikar

b. Maganlal Bagdi

c¢. Dr. Khedkar

d. Veer Vamanrao Joshi

a b c d
1 1I I v 111
2 1V I IT I1I

3 1 II III v
(4) III v I II

I.
II.
III.
IV.

II.
IIL
IV.

fe-gram T3 ot

K R IN G R IRE REIGED
FAETEA T EiaA afes
HiES sclich

Hindustan Red Army
Freedom fighter from Akola

Freedom fighter from Amaravati
Forward Block

el HIHTTS! SR / SPACE FOR ROUGH WORK

A
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56. ‘T IR WST TS {1 WaA Fesan 3 3y wWad fegeu Tty amremeft e
T AU ATEY, T RS 30T 1921 Tiefl 3reremETe Jefier urd s il SAfesmm
qeierieh! vt aigen gran ?

(1) A.F.Fzw (2) TATERTE IS
(3) &R Wil (4) =TSl Fo

‘The aim of the Congress 1s to achieve Swaraj means complete independence and
independent India will not keep any relation with the British Empire’. Who among
the following proposed the above resolution in the Indian National Congress held
at Ahmedabad in 1921 ?

(1) N.C. Kelkar (2) Gangadharrao Deshpande
(3) Hasrat Mohani (4) Bapuj1 Ane

57. Wrefierdsht sivlt FarRes sfeem dfesnfes smfauem <t womom seft 2

(1) e AqS9d T (2) 93 FgH @H

(3) 3Rfdg =iy (4) T HEEE el

Who among the following set up the ‘United Indian Patriotic Association’ ?
(1) Lala Lajpat Rai (2) Sayyad Ahmed Khan

(3) Aurobindo Ghosh (4) Maulana Mohammad Ali

58. LA.M.IAS I/ rciias=re [IoR wrse UM @iefieddh! sivd faam /e ang 7
(1) = ST STen SO gTfieh et TS AT e e,
(2) WIUHTEAT <TATE! SV GHeheuaTat gl A Fodll Fefae.
(3) HHRIGE IR Toi RHgIar=a TH-<==Tq WRATd €6 oI ¢Farg TS FiH1 ferehre g,
(4) HHAIE T TSI AT Sel SRSl iehie AV amedgy sal 3 gfiured TS A e

Which of the following statements explaining Justice M.G. Ranade’s ethical views
is false ?

(1) Ranade rejected the religious ideas that hinder human freedom.
(2) He also attacked the religious ideas that make man devine.

(3) Ranade adopted the divinity prevalent in India through the synthesis of Karma
Siddhant and Reincarnation Siddhant.

(4) Ranade asserted that man becomes powerful due to both Karma Siddhant and
Fatalism (Jadwad).

e HIHTESI AN / SPACE FOR ROUGH WORK P.T.O.
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59. Sl .

a. I 1919 ALY gEd oftren yfafeft e sofeen e, i wfdeer =
b. 1AW EfH 1922-24 A1 HreAd €. AN, EAT GAWE i, A1 G, FEH
TBIAd W Hel.

c. S 1930 T=d fiqeum afeeht ao1 U el iii. TEATGH FEITEAT™
d. 1928 9&d ulger Usdg TaT=fl TUHT el v, TS g
a b c d
(1) 1v 11 111 1
2 u 11 1 v
3) 1iv 111 11 1
4) 1 11 111 v

Match the following :
a. She went to England on July 1919 as a delegate of 1. Latika Ghosh
Home Rule League.
b. A prostitute who take part in non-violent protester  11. N. C. Hardikar
movement of C.R.Das in the period of 1922-24.

c. Hindusthani Sevika Dal founded on June 1930. 1i. Madanadevi
Mukhopadhyay
d. Women National Organisation founded in 1928. iv. Sarojini Naidu
a b c d
1) 1iv 1i 111 1
2 n 111 1 v
3) 1iv iil ii 1
4 1 i1 111 v

60. Efeu et afee, 1909 wgget Wieheshl v faem /faum slisx 32 /3 ?
a. A1 HECAM HEAHEE! Tad HAgREdT=! Tg et
b. . T, G0 AT Oict- T GEmon e ITEe eihTEieR aR heare fHesime e feo.
c. I HEFCIN JUNIA M 3TAI-3(eTH IrATETS] Tad HaaRed=! alqg Hudrd 3e.
d. T AR Yo d dc Teus HasuEh dc Wi et TR
(1) SR a3mid (2) S a3 b (3) Wadadc (4) a, bamrd
Which of the following statements about Indian Council Act, 1909 is/are correct ?

a. This act provided separate electrorates for the Muslims.

b. K. M. Munshi pointed out that The Minto-Morley Reforms stabbed the rising
democracy.

¢. This act provided separate electrorates for Europeans and
Anglo-Indians.

d. Government not accepted the principle of democracy that is principle of
election.

(1) Onlyaandd (2) Onlyaandb (3) Onlyaande (4) a,bandd
FoA HHEETS ART / SPACE FOR ROUGH WORK

A
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61. Wreflerdeh! v/t foam /3 <= 314 ?

v -ufay fedi vereiedn qragel Teaiige quil 9 ardft 7 @R A ol ST,

g -ufeem fe@n TeReiedT |TaYeT Hatige e 9 ATt T @R e et IR,
- R Tt FgE ThiA- il @ ATl T @R AT e o,
q&-afeam @I Teciedn STayeT THaiges UT 9 Wen T @R e I IR,
a 31for b (2) & b (8) ca3mfrd (4) w& d

Which of the following statements is/are correct ?

a.
b.
c.

d.

1

Purna and Tapi river basins are separated by the Satpuda mountain range
extending in the East-West direction.

The Narmada and Tapi river basins are separated by the Satpuda Mountain
range extending in the East-West direction.

Purna and Tapi river basins are separated due to Satpuda Mountain range
extending North-South direction.

Purna and Panzara river basins are separated due to Satpuda Mountain range
extending in East-West direction.

aandb (2) Onlyb (3) candd (49) Onlyd

62. @A faum .

a.
b.

(1)
(2)
3
4

e FSegrma Tigad S e 3Med U 49 TS SIS AT &,
HfS g HERTSERl Hecars WS 318, T |ihlelt aiandia S 39
HISAT THTUMER IcATE Bl

fagm a SR 3R

faum a 37T b =R 3m=a

faum a 3nfor b s A

farem b seR 3R

Observe the following statements.

a. Gondwana types of rocks are found in Chandrapur district and therefore hard
coal is produced.
b. Manganese is an important mineral in Maharashtra. It is produced on large
scale at Kanheri in Sakoli taluka.
(1) Statement a is correct
(2) Statement a and b are correct
(3) Statement a and b are not correct
(4) Statement b 1s correct
HTeH TS AR / SPACE FOR ROUGH WORK P.T.O.
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63. TYFaTCATAT HARM 3MHEAd Ho faue 3neswr.

(1) wHa fshamsiier FToft 3TE at SaR SgsITg SUATSHIE FHErTiet STaeed 318,
(2) wHa fspamsiier swqm o Aafifs afferdia afada & wehar.

(8) w™a e TEeE ==
(4) 9T, FSAT M TR A7 THO

TS SAEH HH FHal.
IS3TeR SGe Ueqd VAT e JHI9 0Ha & qEia

YSSToR Ge1 I8 S T dhoid ofl 3R

Identify the statement that disagrees with the possibilism.

(1) Man is active creatures and depend on nature like other quadruped animals.
(2) Man 1s active and can change natural conditions.

(3) Man works in tandem with nature with its cooperation.

(4) Man is also a living organism that changes the earth’s surface as like wind,

river and ocean.

64. I SSAT Je3al.

wmifeter faamaa
a. T 1.
b. @ X ii
c. %. TEd dd iii.
d. 1 9w iv.
a b c d
1) 1v i n i
2 m  1v 1 1
@) i iv 1 11
4 1w iv 1
Match the correct pairs.
Geographical Thinker
a. Ratzel 1.
b. Carl Riter 1i.
c¢. Kum. Ellen Semple 111.
d. Carl Sauer 1v.
a b c d
(1) 1v 1 i
(2 i iv ii 1
3) i v 1 1
4 1 m 1v i

Ter
o i
. imfeTer weriarom=n geTE
AFIETET 3fagmd

Book
Cultural Geography
Influence of Geographic Environment
Volkerkunde
Erdkunde

el HIHTATS! AT / SPACE FOR ROUGH WORK
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65. A faum M.

T AT B SThideh Y-Ta=a ST shell AT,

T ST HHETEAT YTshiaeh T ¥ Td el Sal.

et SfierTen Stamshe 3 SEE™ JET THE P TR e Sl
AT HTER, =R, o Jien snarg Jiel Sierd shefl ST,

a, b, ¢ & faum T Ra

a, c, d g faum I/ 3nzq

b, ¢, d & faum a7 3mRd

a, b, d & faum T/ 3mRq

Identify the correct statements.

In Human Geography only Physical landforms are studied.

Human Geography is the study of the Physical elements of man.

The life cycle and occupation of human life is studied in Human Geography.
Human diet, thought, religion are studied in Human Geography.

a, b, ¢ statements are correct

a, ¢, d statements are correct

b, ¢, d statements are correct

a, b, d statements are correct

66. 1990 T, YuT I ufgedn € Hiwed3R TFTaist UTsh (STPs) Yehl Teh IR crdied
AY I 29 STPs TATH HOIATT 37T,

(1)
2)
3)

AT T YT
ATEE T 2FEG
JIAYR 9 EEETG

(4) <=8 9 WETG

In 1990, Pune was one of the first three Software Technology Park (STPs) that was
established along with other two STPs at

1)
2
3
4

Bengaluru and Bhubaneshwar
Bengaluru and Hyderabad
Bhubaneshwar and Hyderabad
Chennai and Hyderabad

THeed! HIHES SR / SPACE FOR ROUGH WORK P.T.O.
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67. T TieqT U ITEH IUHA i (Negnidg Idte=l gl Jead.

UG
a b
1 11
1 i1

1 1
1 1ii

111
1
i

v

d
v
v
v

11

1.

1l.
111.
1v.

ERRIC)
A
Tl gl
IR
Tt

Match the pair of products with Districts under one district one product initiative.

District
Raigad
Pune
Ahmednagar
Amaravati

a b

1 11

11 111

1il 1

1 111

d
v
v
v
1l

11.
111.
1v.

Production

Pomegranate
White Onion
Fig

Orange

68.

Trefiet faum e = anfor @refietsh @ gaty e
PMMSY 20 % 2020 TSt g1 aui= Hraadiadt g& Huam 3.
RIS TSATd Ted IeqTeH areauaradt PMMSY 3iarta et sheer SIffT Tafevamd a4

1.

1.

3.

(1) % i SO 3R

3

i 31T i1 SR 3TRA

(2) e il ST AR
(4) il ii Qe TR IR

Consider the following statements and choose the correct option from the below.
PMMSY was launched on 20 May 2020 for the period of 10 years.

L.
11.

(1)
3

Cage culture farming is being implemented under PMMSY to increase fish

production in the State of Maharashtra.

Only i is correct

Both i1 and ii correct

(2) Only i1 is correct
(4) Bothiand ii are incorrect

THeedl HHE! AR / SPACE FOR ROUGH WORK

A
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69. WIeherehl Ul faum T 3Rd ?

A, SR I Taem - qgsITE TS el

b. WRaMe! 1950 et Irfior-anl qgr IrEdtead TS,

c. UTHUT-aR} YgETa eI et S .

d. U g BT 3T, fefes deer i S eIt g JHE.

(1) e a A ¢ (2) % a, b A d
(3) e ¢ AT d (4) W b 3T d

Which of the following statements are correct ?
a. Blashar firstly studied the rural-urban patta.
b. Rural-urban patta did not exist in India before 1950.
¢. In rural-urban patta used urban force.
d. The rural urban patta consists of airports, educational complexes and water

filtration plants.
(1) Onlyaandc (2) Onlya,bandd
(3) Onlycandd (4) Onlybandd

70. @relie faum wa.

. TRREE dEe 9 Faiem i e fuee geae yum S SRe @ e e
NIEJR=URIGH

b, RrAwEE AT TH TR SIS d1 YISt S TEd .

c. UTHAAS WeHia THiSH HIS JHAw.

d. e oreaT 71 Alay Hg AN,

(1) a, b ST 37 ¢, d TH 3=
(2) ¢, d SU 3G a, b IH Aed
(3) a,b,c SUSK 3T d I 38
(4) a,b,c IH FET d TR 3R

Observe the following statements.
a. Magma contains more silica than iron and magnesium minerals is called acidic
magma.
b. Magma does not spread more on the earths surface due to large proportion of
sand in it.
c. Pagmatitic rock content large crystals.
d. Basic Lava is very thick.
(1) a, b are correct but c, d are incorrect
(2) c, d are correct but a, b are incorrect
(3) a, b, c are correct but d is incorrect
(4) a, b, ¢ are incorrect but d is correct

FHTHT HWMTES AWM / SPACE FOR ROUGH WORK P.T.O.
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71. A g JeA.
fereen Rremn
a. WIS i. e
b. femmom i, faggt
c. UHTE iii. 3R
d. AT iv. 3m
a b c d
(1) 1 iv ii 1
@) iv ii i i1l
3) iv i i1 1il
(4) 1 11 iv 1
Match the pairs correctly.
Fort District
a. Malanggad 1. Raigad
b. Lingana 1. Sindhudurg
Ramgad ui. Akola
d. Narnala iv. Thane
a b c d
(1) 1 iv 1 i
@2 iv ii 1 iii
3) iv i ii iii
4) iii 1 iv i
72. Aoyad SR &% (CBD) & srexifawi=h dereu I ITAA 3R,
(1) St (2) 3R
(3) Wi (4) s

The concept of Central Business District (CBD) is related to the cities of
Country.

(1) Germany
(3) India

(2) America
(4) England

HTAT HHTETS AT / SPACE FOR ROUGH WORK

A
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73. Wrelieeh! o Taam @ T ?
(1) T 3 den =i faem o= ot S e S8 o
(2) foremarer @ WeRor A e S o AeRifede e 3@ .
(3) ST TWT @ SR T e e 700 T . ST S eR 3T I FshAor fam
T8 TR,
(4) TETOr ST T AT T ST R TeAE faenTaT 3 TRvdTd.

Which of the following statement is not correct ?

(1) The layer separating Sial and Sima is called Conrad discontinuity.

(2) The layer separating lithosphere and mantle is called Mohorovisic
discontinuity.

(3) The 700 km thick layer between the outer core and the inner core 1s called
Transition zone.

(4) The layer separating mantle and core is called Gatenberg discontinuity.

74. @ree fagm T@.

a. T, W, A I qeehel Rigiagar fermen foweh dim ang g,

b. I 3T TREA dewsare arhee geTge Hm et e gHee e AT
femTe UM FUR e

(1) Ferd (U a SUSK 3R

(2) wad faum b SR 3

(3) faum a anfir b st amRa

(4) faum a i b sUR TTEG

Observe the following statements.

a. According to Plate tectonic theory of W.J. Morgan, there was Tethys sea
in place of Himalaya.

b. Due to lateral compression of Indian and Asian plates, the sediments of
Tethys folded and Himalayan ranges formed.

(1) Only statement a 1s correct
(2) Only statement b is correct
(3) Statement a and b are correct

(4) Statement a and b are not correct

THoAT HWMTS ARM / SPACE FOR ROUGH WORK P.T.O.
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75. SIS Joadl.
3R IR
a. SATATHE! Y3R i, dermfre
b. wETfgd weR i, WRER
c. 3i3nferEm w@r i, St
d. TEAUEH Y8R v. TEEA
a b c d
1) m v 1 1
2) 1w 111 1 11
(3) i 1 v i1
4 i 111 1 v
Match the following.
Plateau Example
a. Volcano Plateau 1. Patagonian
b. Continental Plateau 1. Potawar
c¢. Aeolian Plateau 1. Columbia
d. Piedmont Plateau iv. Deccan
a b c d
(1) m 1v 11 1
2 1iv 111 1 1
3) 11 1 v 11
4) 1 111 1 v
76. HHtEewid A e Yo
Eac Iqre
a. Tl Shieht i. A fharr s
b. e shidl ii. e
c. el shidt iii, serer
d. qufertt shieht iv. papeIIH
a b c d
1) 1 111 1 iv
@ u 1 1
3) 1v 11 1
(4 iv 1 1 1i
Match the following related to Agriculture.
Revolution Production
a. Pink Revolution 1. Leather
b. Round Revolution ii. Onion
c. Silver Revolution 1ii. Potato
d. Brown Revolution 1v. Poultry
a b c d
1) 1 1 iv
2) ii i v 1
3) 1iv i i
(4) iv in 1 1

THeAT HHMETS! R / SPACE FOR ROUGH WORK

A
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77. TERTS EATSAT YIEHH S0 Wromehm SeTeHTerd, TITEEER (31 76 2014 TSt SIS 9131

Ferd B UTHTEE A3 eraauil feat 3R,

(1) W@ 2) T

(3) TR (4) fayg

As per Directorate of Geology and Mining, Government of Maharashtra, Nagpur
(Mineral Reserves as on 315t March 2014) is only district shows graphite
reserve.

(1) Bhandara (2) Chandrapur

(3) Ratnagiri (4) Sindhudurga

78. <. UNTEUE SUHE SIS Haeld A HeWid @ieiierdeh! Siurdt fagm sRiet JTed ¢

a. TENTS TSATAE Sqeh=aMT 37eq Yediean dies saret Fafia waws e Ticr <o

b. I AN ST AR F. 6 ARG FeATE 3 T A HIAd IAGH QuaTd Ad.

c. frafim die wat wWahs e G0l o @Y Faed e e .

d. e et dqv e Wake 30 JHudd hoda €. 3 A@ME TS HAE 3 Teh
=19 Gl 3TEH <UITd Ad.

(1) & a 37 b

(2) b, ¢ AT d

(3) Ferd a 3TMT ¢

(4) & a 30T d

Which of the following statements are correct regarding the Dr. Panjabrao Deshmukh
interest subsidy scheme ?

a. To encourage farmers in Maharashtra State to make regular repayment of
short term crop loans.

b. Under this scheme farmers are given 3 percent interest concession subsidy on
loans upto Rs. 6 lakh.

c. If the regular loan is repaid, the entire interest amount is subsidized.

If the entire amount of the loan is repaid by June 30, 3% interest concession
subsidy is given upto Rs. 3 lakh loan.

(1) Onlyaandb
(2) Onlyb,candd
(3) Onlyaand c
(4) Only aandd

THeeAT HIFES ST / SPACE FOR ROUGH WORK P.T.O.
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79. G foum fmma =,

i #2022 wq stfee W wuet e Fifdue el s varrg T
Haifies 91 3.

. WERTSEIHIT WISt &Tehe drdies samien e ffifdi=h srfue wenfia s am.

(1) e i S 3 T 1i b IR (2) o ii S 3R F i b AR

(3) i IO ii Gt S A (4) = i 3nfn i e IRa

Consider the following statements.

1. AsonMarch 2022, Maharashtra State has the highest share of installed capacity
in electricity generation at All India Level.

1. In Maharashtra, the private sector has more installed capacity in electricity
generation than the public sector.

(1) Onlyiis correct and ii is false (2) Only iiis correct and i is false
(3) Bothiand ii are correct (4) Bothiandii are false
80. Sre=n ol
% arEgs LGIEY
a. JIFNGMEI i. SR
b. dEES i. Ivies
c. ud iii. feeht
d. sTHIEE iv. STE
a b c d
1) iv 1 il 1ii
(2) 1 11 v 1
3) iv i1l i ii
4) i v 11 1
Match the following.
Ferry Transport Creek
a. Agardanda 1. Bankot
b. Tawsal 1. Dabhol
c. Dhopave 1i. Dighi
d. Bagmandla 1v. Jaygad
a b c d
1) v 1 il 1ii
(2) 1 111 v 1
3) 1iv 1ii 1 1
4) i v 1i 1

FoAl HIMMETS IR / SPACE FOR ROUGH WORK

A
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81. Wrelierehl HIvrd q&d fFaadean srqery Srges Fmio gam ?
a. s

b. feueRd
c. wusfiem

d. |

(1) e a AT b

(2) % a 3T d

(3) e a, c 3N d
(4) % b, ¢ 3T d

Which of the following land forms are formed due to the erosion of glacier ?
a. Horn
b. Drumlins
c¢. Roche Moutonnee
d. Glacial Stairways
(1) Onlyaandb
(2) Onlyaandd
(83) Onlya,candd
(4) Onlyb,candd

82. T, WH. IHH ITSAT HA IHN § WIEACTieh! HIUET HHET HRATHS THOMT TTE ?

(1) & (2) wisRa
(3) HICIIaE (4) =k
According to W. M. Davis, which of the following is not functional result of landscape ?
(1) Structure (2) Process
(3) Time (4) Cycle
83. W THTE! Tl RIRIEZRIC R R

(1) @t feex (2) =9, . M@
(3) 3ATHHS AT (4) =€ s’am
Scientist put forth the concept of cycle of erosion.
(1) Karl Ritter (2) W.M. Davis
(3) Alfred Wegnar (4) Richard Heartshone

HoAT HHTETS ART / SPACE FOR ROUGH WORK P.T.O.
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84. W fopmugisdiar qriiaer, quTafia Tga MM a1 § He YITAR Tehaatl HERrsgidiet
_ % vEreE T

(1) sfada (2) shEm
(3) TR (4) fedsmr

Coastal features like seacliffs, wave cut platforms and caves all together observed

at in Maharashtra.
(1) Shrivardhan (2) Harihareshwar
(3) Ganpatipule (4) Daiveagar
85. S el
e firer
a. e feme™ i, wmq
b. FHS feae™ ii. FHoABIT
c. e femer™ iii. -2
d. smam feae™ iv. gaaf
a b c d
1) 1 v i 1il
(2) v 1 1
3) iv 1 11 111
(4) i v 1
Match the pairs.
Himalaya Peak
a. Punjab Himalaya 1. Kamet
b. Kumaon Himalaya 1. Kulakangari
c. Nepal Himalaya ni. K-2
d. Assam Himalaya iv. Dhavalgiri
a b c d
1) 1 v i 1il
(2) i1 iv 1 i
3) 1iv i il 1ii
(4) 1ii1 i iv i

AT RIS AR / SPACE FOR ROUGH WORK

A
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86. =TT TETEd JhdisETEA B fagiame Erefie Tl &9 g 7

a. IENE ITN &

b, SR & &F

c. Tramdt 3uFr &=

d. 3Menfies TR &=

(1) whgr wieay fagm @) Prenws faga

(3) wEhard fergrd (4) W= fagia
In which theory of pattern of urban settlement the following types of sectors are
found ?

a. Heavy Industry Zone
b. External Areas of Trade
c. Residential Suburban Zone

d. Industrial Suburban Zone

(1) Concentric Zone Theory (2) The Sector Theory
(3) Multiple Nuclei Theory (4) The Mann’s Theory

87. 3T (YSYER) TETEATS SpdisUTETSd Wielieeht Hior/d faum/faum @ 3 /3ma 2
g, TETe) ST TAGTaS TGSHhR A St TR e Nead] foehuft dud.
b. TETEA HTUROMY FeIT=a1 THR faehfa gam.
c. U Higuft & TS SIS 3.
(1) % a (2) W a M b
(3) ®H b (4) e a AT ¢

Which of the following statement/s is/are true about the Nebular pattern of
settlement ?

a. The arrangement of roads are almost circular which ends at central location of
the settlement.

b. The settlement generally develops at the confluence of the rivers.

c. The arrangement of the houses are along the river banks.

(1) Onlya (2) Onlyaandb
(3) Onlyb (4) Onlyaandc
FHTAT HHETS AR / SPACE FOR ROUGH WORK P.T.O.
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a.
b.
c.
d.

e.
ey
(2)
3
4

42 K19

3. S ¥ IJENR, WG H5Ed STel W 6S F0R & (WeB) FHHM Al

F MR &g (CBD).
GsrauTsiieT &9,

2 F w1 HuT= 99TEd 8.
ey Tifig Al 99Ed 8.
a, b, d, e, c

a, b, C, d, e

a, b, e, d, C

a, c, d, b, e

According to E. W. Burges, arrange the sequence of zones from centre to outwards
of a city.

a.
b.
c.
d.

e.
(1)
2
3
(4)

CBD-Central Business District.

Transitional zone.

Daily Commuters settlement Zone.

Settlement Zone of industry and working class.
Middle class settlement Zone.

a, b, d, e, c

b, ¢
b, e
c d

>

’ ’

d e
d ¢
b e

’

~

a,
a,
a,

b4

89. WIE(IEdeh! HIIET YT TehIH1 /SihesTehell WU U= TR STEBATT ?
(1) ved wem

(2) fergererta e
(3) arad T fFAmaNEE wew

4

et sew

In which of the following region square/block pattern settlements are found ?

(1)
2)
3
4

Mountain regions
Equatorial regions

Desert and semi arid regions
Polar regions

FHEeH KA AR / SPACE FOR ROUGH WORK

A
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% G T HIOTR TehICeAT SETade 3Ted ?

a. ol o=d

b. H¥ IGT 916

C. WQ@'}IW

d. YTSUURE qod

(1) higa =@mEd

(3) HIF TR

K19

2) freda aura
(4) bl TETEd

Which type of settlement has the following merits ?

(2) Fragmented settlement
(4) Dispersed settlement

91. e Tiemyta argom=n wfy s A= e TEm seEs S, Jde qwe e e

(2) e b M ¢
(4) ®Ed a I d

In Southern hemisphere the Anti trade winds has specific names, choose the correct

a. Time saving
b. Growth in agriculture income
¢. Good for health
d. Free from quarrel
(1) Concentrated settlement
(3) Composite settlement
a. TISUIR <A
b. AT
c. ydE gd ar
d. fheTmm @18
(1) W a M b
(3) W% a afer ¢
names.
a. Roaring forties
b. Nor Easters
c. Polar Easterlies
d. Shrieking sixties

(1) Onlyaandb
(3) Onlyaandc

(2) Onlybandc

(4) Only aandd

oA HEES M / SPACE FOR ROUGH WORK

P.T.O.
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92. 2011 = SHUHIHR, SRATAC T SRS B Sewid HIvT =&l 359 91 3718 7

(1) 3IuTed Jew - fyehim - fagm - amnefe
(2) Towbm - sreuT=el yew - ArTeE - frehuy
(3) TEVTEA YewT - figium - fyshim - Tl
(4) ToFhm - oMele - sreonEe wow - fieiRm

As per census 2011, which ascending order in respect to population density of States

of India is correct ?

(1) Arunachal Pradesh — Sikkim — Mizoram — Nagaland
(2) Sikkim — Arunachal Pradesh — Nagaland — Mizoram
(3) Arunachal Pradesh — Mizoram — Sikkim — Nagaland
(4) Sikkim — Nagaland — Arunachal Pradesh — Mizoram

93.

RIS, TSATETEl o= 99 o7 for qoner ai=h v e e
FATUTR Y

1981
1991
2001

2011
a
L i
@) i
(3) iii
@) i

B TR

b
11
1
1

1ii

i1.
111.

1v.

c d
11 v
111 v
1 v
v 1

férm it
937
934
922
929

Match the correct pair of Census year and sex ratio for Maharashtra State

Census Year

a. 1981
b. 1991
c. 2001
d. 2011
a
(1) i
(2) 1
(3) 1
4) u

111

1.
1.

1v.

c d

111 v
111 v
1 v

v 1

Sex Ratio
937
934
922
929

THEHN HHEE SR / SPACE FOR ROUGH WORK
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94. ‘w7 TRHT/TOR THB A FATEUC T FATRGE I I B U]
e TS TR
(1) o 2) +
(3) dftraTg (4) RS

is the first State in the Country to declare ‘The Blue Mormon/Rani
Pakoli’ butterfly as the State butterfly.

(1) Gujarat (2) Kerala
(3) Tamil Nadu (4) Maharashtra
95. 37, Fram o ITEdS 3. T TS ST AR gl HUOATEIE YA FEeIe g ATl
T +T.
(1) T qTEer=T 38T (2) 3ITF TTER!
(3) 319 IAIMOT ATOR ST (4) uitfRufash qreer=n aar

calculates the natural areas required to fulfill the human needs and
elements of food, housing, transportation etc.

(1) Carbon footprint (2) Food chain
(3) Food and demand web (4) Ecological footprint

96. a. TeamEia = anfores fafeo S T S SR g 39 AR
b, alet FERTTET WEATEERY SweERt ge1 fEa .
c. Teamian <t v 1968 7Y e
feamdian Tewld St HIvr /dt faum /3 stet o/ a7

(1) faamb @ faumc
(3) faumasnfiib @) fauma
a. DRDO’s defence laboratory for nuclear radiation management technology is at
Jodhpur.

b. The above laboratory is also deals with applications of radioisotopes.
c. DRDO was established in 1968.
About DRDO which of the above statement/s is/are correct ?

(1) Statementb (2) Statementc
(3) Statement a and b (4) Statement a
w1 HTATHTS ART / SPACE FOR ROUGH WORK P.T.O.
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I g1 GRUTHTYS ST 9 Tge eI G fehTr a¥aR IagR T,
(1) ©sER (2) TR (3) 3TETRHT (4) IW A

Due to the effect warm current, the eastern coast of Canada and USA
have moderate climate throughout the year.

(1) Labrador (2) Gulf stream (3) Alaska (4) North Atlantic

98.

ettt faem urar.

a. NS go1 ar=aren fewn ofor 3 wenfya .

b. Witanfm s& &1 qesfien fhen gremmehan ywe 3.
(1) faum a s amR

2 faum b sO=W 3

(3) faum a 31for b s aMRa

(4) Taam a 3nfr b e AEa

Observe the following statements.
a. Coriolis force affects wind direction and speed.
b. Coriolis force is an effect of rotational movement of the earth.
(1) Statement a is correct
(2) Statement b is correct
(3) Statement a and b are correct
(4) Statement a and b are not correct

99.

U A=A g TRUER BA'r v oifede

(1) 5 T QAT IS A IUFHFENT 378 gAH

(2) T T QWA IS U AW a8 g

(3) @ B [T UIHE I GeH ATt 318 garH

(4) T TG VAT TSHE FAAA IVEHREHT g waHE

As per Thornthwaite climate classification BAr means

(1) Tropical wet climate with adequate rainfall in all seasons

(2) Mesothermal wet climate with adequate rainfall in all seasons

(3) Microthermal wet climate with adequate rainfall in all seasons
(4) Tropical humid climate with adequate rainfall in all seasons

AT HTHHETS SR / SPACE FOR ROUGH WORK

A
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100. <o ffauda yr Eefiedd Hvm ARd ?

a.
b.
c.
d.

(1)
3

CCCINCREIERKI

e fafawan

STt ferfarean

e fafaean

% a, b I ¢ (2) e b, ¢ 30T d
B a, ¢ AT d (4) a, b, ¢ 3mfor d

Which of the following are the types of biodiversity ?

Genetic diversity

Rock diversity

Species diversity

Ecosystem diversity

Only a, b and ¢ (2) Onlyb,candd
Only a,cand d (4) a,b,candd

101.

Safafiadaes Grefleriehl HIva faem /3 ster 3e/3med ?

1.
1.
1.
(1)
(2)
3
(4)

wgeh fafaedd e Fea™ STt T i Wk,
WIATd & Aafafayan glemie ed.

e 1 SRR 3R

T § AT §i SO AR

e 1 ST i1 SR 3R

H il WU AR

Which of the following statement/s is/are correct about biodiversity ?

1.
11.
1.
(1)
2
3
4

Decrease in genetic diversity may lead to extinction of Species.

Areas that are rich in Species diversity are called as Hotspot of diversity.
There are six biodiversity hotspots in India.

Only 1 is correct

Only 1 and 11 are correct

Only i and 111 are correct

Only 11 is correct

HeAT HATETS AT / SPACE FOR ROUGH WORK P.T.O.
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102. GEAdh Hiva giEfidishl 79" YR 3R ?

a. AT HA

b. S TEgammEn T

c. 9 AR T

d. IS HER

(1) % a, b, 3mfrc (2) wF b, c 3for d
(3) W& a, ¢ 3mfoT d (4) a,b,c 3mrd

Which of the following are the types of Ecological Pyramids ?
a. Pyramid of age
b. Pyramid of biomass
c. Pyramid of biovolume

d. Pyramid of energy

(1) Onlya,bandc (2) Onlyb,candd
(3) Onlya,candd (4) a,b,candd

103. furs suTage Tl Sivn faum /3 9@ sme/sma 2
i. o an Th gedaren afvan wde SaesT aEdw.
ii. fo® an Jegr N i FrEaE.
iii. o 9w e anfr awa wqEe aEan.
(1) 1iamfrii (2) i foT iii
(3) W iii (4) e ii

Which of the following statement/s is/are true about Chinook winds ?
1. Chinook winds blows on the western slope of the Rockies Mountain.
1. Chinook winds are warm and dry.
iii. Chinook winds flow in the winter and spring.
(1) 1andii (2) 11andiil
(3) Only iii (4) Only it

THeeAT HMTHETE! SN / SPACE FOR ROUGH WORK

A
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POCRA wgel @refiedeh! shivia faem g amg 7

(1) U= SAHHTT HeAHed Al 37T Aqeh=a JHa HUATHTS! FArRMe erferde
fifisheat Tohed GE Hell T2,

(2) TEheUTE A ‘THTS QI St et Tehed’ 318 TR,
(3) 5.0 TFTET IR SHH TS Jqehtl AT Fehourarid fIfae STEMTETS! T 37Te.
(4) T Thed TENRTAA haet 15 Neaaguar geardiar gatfea g

Which of the following statement is incorrect about POCRA ?

(1) Projection Climate Resilient Agriculture is introduced to rehabilitate the
agriculture and the farmers during the extreme climate events.

(2) The project is named as ‘Nanaji Deshmukh Krushi Sanjeevani Prakalp’.

(3) The farmers having more than 5.0 hectares of land are eligible for various
grants under the project.

(4) The project was limited to only 15 districts of Maharashtra initially.

105.

AT fauitaar e % ?

(1) SEHER qoEE FH g S

(2) IER AEE € T g

(3) SATER qUHE ared S,

(4) SHETER TUEEE TS 916 B0

What does inversion of temperature means ?

(1) Decreasing temperature with increasing height.

(2) No change in temperature with increasing height.

(3) Increasing temperature with increasing height.

(4) Sudden increase in temperature with increasing height.

106.

Wrefierdsh! i ferenefi swrg Sh. wa. gee siimifeh werfoaem, TR I 2021 &l
T fyehfa e 3T ¢

(1) PISAT (2) UNITYSat

(8) KalamSat — V2 (49 PRATHAM

Which of the following student satellite is jointly developed by G. H. Raisoni College
of Engineering, Nagpur in the year 2021 ?

(1) PISAT (2) UNITYSat
(3) KalamSat - V2 (4) PRATHAM
Tl HMTETE! AN / SPACE FOR ROUGH WORK P.T.O.
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107. YRAWE TS G feaq i aR@en U el Sal ?
1 1139 (2) 15 JATFRER
(3) 05 v (4) 11 3
On which day the National Technology Day is celebrated in India ?
(1) 11 May (2) 15 October
(3) 05 dJune (4) 11 June
108. ik T fferd womelt (GPS) Traehet ewla aaem awifawd st faum o sma 7
a. g 3 IR
b. wata i whis am
c. WA ST TR AT T
d. T ATREST kAT Hgeare! AT
(1) aanfre (2) c3rfrd
(3) bamfrc (4) a, b3 d
Which of the following statements about Survey Grade of GPS receivers are true ?
a. They are the most accurate
b. They are the least expensive
c. Most often used by professional surveyors
d. Accuracy is not crucial for their use
(1) aandc (2) candd
(3) bandc (4) a,bandd
109. 3. AR. TH. IWE TUITei= gEara feasft IRS-1A &1 3Swrg JraeEa & %
EINi
(1) 17th=r= 1988 (2) 18thwr= 1988
(3) 29 FwE 1991 (4) 29 T 1986
The IRS (Indian Remote Sensing Satellite) System started on by
launching of the IRS-IA satellite into space.
(1) 17*h March 1988 (2) 18t March 1988
(3) 29th August 1991 (4) 29th August 1986

FHeeAl HHTETS! ART / SPACE FOR ROUGH WORK
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110. Yedren fieves feriaat dgeransa @l faam =R w0,
1. Tl iRt it gersomgR 3T W e gt ST AT T
i, 40° I ST feaor rere qURH-Feae fafertor Rieerss TEd.
i, yha weomed ferieami=h wuaar-sm@a s = B e 39 ffed .
iv. 391 spieaurder sfafeaa 3o wratar yewma qAfdadia weft I,
FhAth! il fam sist 3mRa ?
(1) ii 37 iv (2) 1i3mrii (3) ii, iii iv  (4) ii3mfr i
Consider the following statements regarding net radiation balance of the earth.

i. Earth maintains its temperature by receiving heat through terrestrial radiation
and insolation.
ii. There is a surplus of net radiation balance between 40° North and South.
iii. Polar regions have a radiation deficit and they do not receive heat in any form.
iv. The surplus energy from tropics is redistributed to the deficit region.
Which of the above statements is/are correct ?
(1) nandiv (2) 1andii (3) 11,11 and 1v (4) 11and i
111, U1 FIHUTTHR TRAT Wefie gaMH &7 Je5dT ¢
TAETR TR BEy)
a. A, i, afrergat sRves fem
b. C i, fgweredia TBr
c

wg
. D¢, iii. T AgH
d. A, iv. TR oH
1 a—-it b-i1i c—iv d-1
(2) a—iv b—iii c—i d-i

B) a—-1u1 b-i c—i1 d-1iv
(4) a-—1 b—11i c¢—iv d-ii
Match the following climatic regions of India according to Koppen’s classification :
Types of climate Areas
a. A, 1. Coromandal coast of Tamil Nadu
b. ng ii. Peninsular Plateau
c. Dg 1i. Ganga plain
d A iv. Arunachal Pradesh

(1) as~ii b—iii c¢c—-iv d-1
2 a-iv b-ii c-1 d-1
3) a—iu1 b-1 c—ii d-1v
4) a-1 b—ui c¢—iv d-1

HTAT HUETS AR / SPACE FOR ROUGH WORK P.T.O.
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112, IWEG] 3 Tewid Grefid faum femm =,

i, &l ISTden hern yWiE feaar=an It it eyl SorEdl.

ii. I Tror STfdT wrEdt e Isoren et fmtor g,

i, JTHIOT-SrEd SRS droHe Soft e ner Wl T 9t daeeiia

uftg=ror fmior wa.

iv. Y56 WITT=AT UIAGSIeR WIgdt MFIRE qeia- U8 &a1 Tt 3807 Irftor wimmehs .

SRt v/t faem /4 /<t I /e ¢

(1) % iv

(2) ®H i A iv

3) ®EH 1

(4) R i ST i

Consider the following statements regarding Heat Island.

K19

i. Theimpact of urban heat centre is more prominent at day time due to insolation.

1. It generates thermal anomaly in the rural and urban areas.

1. Temperature range in the rural-urban environments generates convectional

air circulation during night in the city centre.

1v. Relatively cooler air at the surface level in urban area moves towards
warmer rural areas at night.

Which of the above statement/s is/are incorrect ?
(1) onlyiv

(2) onlyiandiv

(3) onlyi

(4) onlyiand i1

113. WRATdS SHUHTEAR, 2001 © 2011 G0 GIeficideh! HIvTeT Usard THYT HIERT=a THIT

A1 ®Teh HiSToT Tl 7
1) Bga 2) fe=r (3) TNGs (4) frsm

As per census of India, which of the following State has recorded maximum difference

in the total literacy during 2001 to 2011 ?
(1) Tripura (2) Bihar (3) dJharkhand (4) Mizoram

THeed! HWETES! AT / SPACE FOR ROUGH WORK
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AT e SehEEAT 1T, 2000 H yq@ e HIvrdt ?

a. SIS SRR 30 Wi Trell S

b. SIHEE! A TTEIHOT T Tafem,

c. ‘T9 T TIR T FHRIHA e aUI.

d. gifara miura frem g oRft 3ueey w A <Ol

(1) e a, b AT ¢ (2) % b, ¢ 3T d
(3) & a, c M d (4) a, b, c M d

Which are the major objectives of India’s National Population Policy, 2000 ?
a. To minimize child death rate below 30 per thousand.
b. To organize vaccination programme for children.
c. ‘We two ours two’ programme to be continued.
d. To make available Safe Abortion Rules and facilities.
(1) Onlya,bandc (2) Onlyb,candd

(3) Onlya,candd (4) a,b,candd

115. 2011 =1 SFOHIER AaTdiel Grefletdehl Hiver Tsama qaiaget diemaen aaifas Ae 7
(1) wemrsg (2) IuCH
(3) U (4) feEn
According to 2011 census, which of the following State of India has the highest
population of transgender ?
(1) Maharashtra (2) Uttar Pradesh
(3) Punjab (4) Bihar

116. o= IV Jehioeal Tor fhige qrEae ™ Haciean Sfmi=n Tqseqon i gidl, ™I 4a
femama @@, gehade fafey oo s ywmome S Seafiia HTard @1 e 3T J194 T Jig
G TUTTAT el Teeh e Iehal T8l ?
(1) FHore N0 (2) oo faferto
(3) Foid IcES (4) o WrEdA
Which types of mutual actions in energy are responsible for blur images, also objects
on the earth emit the energy which is not accurately measured by the detectors used
in remote sensing ?
(1) Absorption of energy (2) Scattering of energy
(3) Emittance of energy (4) Reflection of energy

AT HWTETS AR / SPACE FOR ROUGH WORK P.T.O.
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W GTHIG ITRTATA Sl TgW R Horgsh TR Y gaigmeh surg 3 aramo
a1 efter o,

(1) 700 — 900 fep. 4. (2) 100 — 300 fep. 1.

(3) 5000 — 6000 5.1t (4) 10000 — 20000 & 1t

In Indian remote sensing satellites, the sensors recording the energy that they
receive are placed in a near polar sun-synchronous orbit at an altitude of

(1) 700 -900 km (2) 100- 300 km
(3) 5000 - 6000 km (4) 10000 — 20000 km

118.

Uk eI ST oA 3TTR St M qe AT St Sraehiefiy ferewer astad.
(1) fefest voaym wigs (2) TR HigA
(3) SEHIA WCHY HisH (4) ufen wige

is a numerical data structure that represents the spatial distribution of
the altitude of the terrain surface.

(1) Digital elevation model (2) Raster model

(3) Dimension surface model (4) Area model

119. 3w ¥idw & A9 TiiseR(FCC) swea™ wnd am=y @ il arerdt arefterdeh! oo

JuYEA T feada ?
(1) <HTaT (2) o« (3) 9Eq @) fra

In satellite imagery of False Colour Composite (FCC), normal and healthy vegetation
1s seen in which of the following spectrum colour ?

(1) Black (2) Red (3) White (4) Blue
120. Ffors Arsplecg 9o am=a: _ wvE sliewd Sam.

(1) g&uaur Eistded (2) 31w Hied

(3) =FX S (4) S 3@ T S

The passive microwave sensors are generally known as

(1) Microwave radiometers (2) Alpha meters

(3) Vector data (4) GIS data

THoeH1 HHETS SR / SPACE FOR ROUGH WORK
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121. it Sifsaws s 8 15% e S 31 .
(1) @ReE 2 fauta
(3) WA ey (4) TreR iy
The Exchangeable Sodium Percentage (ESP) of soils 1s less than 15%.
(1) Saline (2) Alkali
(3) Degraded alkali (4) Saline alkali

122. @Ielerishl Hiv fieh ST g8l 38 ?

1 forg (2)

(3) waa (4) &

Among the following which is the tolerant crop to Boron ?
(1) Lemon (2) Palm

(3) Potato (4) Wheat

123. F o o mued s 3mRa ¢

a. 1 g TRrdia 3=a nisfier s1me.
b. & yue s geevm amR.
c. A (foega g yvma st & weham.
d. 7w ferda o whefter .

(1) a3 b B (2 b I ¢ FeR

(3) a, b 3T ¢ B (4) wa d

What is/are the physical property/properties of nanoparticles ?
a. They are highly mobile in the free state.
b. They have enormous specific surface areas.

c¢. They may exhibit ‘Quantum effects’.

d. They are immobile in the free state.

(1) aandbonly (2) b and conly
(3) a,bandconly (4) donly
oA HHTETS AR / SPACE FOR ROUGH WORK P.T.O.
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124, S Siegt 39t tuan Ferd) o s degr SRR g
(1) &R g 2) g
(3) ared (4) SEH T
Soil erosion when soil remains bare or without vegetation.
(1) remains constant (2) decreases
(3) 1increases (4) equalized
125. 3 o1 GEATdIE 918 I0fd hid g o U0 T e ded B,
1 == (2 =
(3) d™ (4) T
stimulates early root development and there by helps to establish seedlings
quickly.
(1) Nitrogen (2) Zinc
(38) Copper (4) Phosphorus
126. ST GYCiy fRa TeRtoTe SeudigR ittt Tew wvarer faudia aftemm gt
(1) & fopor (2) TF
(3) uatee fafemtor @) afat=

radiation affects the ability of plants to capture solar energy during the
process of photosynthesis.
(1) Xray (2) Infrared
(3) Diffused (4) Ultra-Violet (UV)

127. WieliaUehl HIv! cifeesh TRETRT (Shifeen) T 7

(1) @ (2) &=
3) YaI=' (4) <A
Which of the following is not a Lentic Ecosystem ?
(1) Ditch (2) Pond
(3) Stream (4) Swamp
128. HAHET ST O A T fham 3 o= des SUEt at g
(1) s (2) emsd
(8) Jausd (VREHRR) (4) SR
The upper layer of soil which covers the land or the bottom of shallow water is
(1) Geosphere (2) Hydrosphere
(3) Biosphere (4) Pedosphere

FHeel HIHTETS SR / SPACE FOR ROUGH WORK
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129. @refidl I e Je5a :
gt - 1 I - 11
(3= TTEd) (aut)
I. gfifsreiwEeE a. aerdt wige gmmE ferm=n wWEdTa S
I1. SUwEH b. EEHTHOT SIS she, AT Sosw St e Sftftea
o= YUd [ 1.

I11. Sa®TEeH c. SftFie yeeumTETet dEh feRuR S wifdrd e,
V. forersmse d. IR I TREHITSES JTEdT.

1) I-¢, II-a, III-d, IV-D
2 I-a, II-b, III-d, IV-c
3 I-d, IMI-¢, HOI-b, IV-a
4 I-a, II-b, III-¢, IV-d

Match the following :

List-1 List — IT
(Higher Plants) (Description)
I. Hemicryptophytes a. Plants survive in the adverse season in the form
of seeds.
II. Therophytes b. Generally rhizomes and bulbs are invariably

buried in the soil or the substratum.

III. Chamaephytes c. The perennating buds are located at or near the
soil surface and remain protected.

IV. Cryptophytes d. The buds are located close to the soil surface.
1) I—-¢, MI-a, 1II-d, IV-b
2 I-a, II-b, II-d, IV-c
3 I-d, II—-¢, II-b, IV-a
4 I-a, II-b, IIl-¢, IV-d

FHTHT HAEIST AR / SPACE FOR ROUGH WORK P.T.O.
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130. YaTE Ham1 S g =1 YU T B T T et iRedl Boparal
el afoms gt
(1) 3z (2) WHEA SRATFTES
(3) TRIGH (4) TEZE HATFETES

at ground level enters the body through inhalation and causes its toxic
effect directly on lungs.

(1) Ozone (2) Carbon dioxide
(3) Nitrogen (4) Nitrous oxide

131. U g i urvfi o .
(1) 1,000 &fex qmoft (2) 10,000 ofrex uroft

(3) 1,00,000 wftex groft (4) 10,00,000 wfiex qrofi
One hectare centimeter of water means .
(1) 1,000 liters water (2) 10,000 liters water
(3) 1,00,000 liters water (4) 10,00,000 liters water
132, NI AUETHS AR B ST ATCSI=AT TROT SN0T 7= Yerel wioft Jieid @rerer
TR st niter B foban srameTar argd A feben e firasd,
(1) T3 Q) ftFtde woft
(3) d@mE (4) UOI H13
The infiltrated water forms the and the excess amount that the soil

can not retain, percolates down deep and recharges the ground water or seeps slowly
into streams, rivers or oceans.

(1) ponds (2) soil water
3) lakes (4) water reservoirs

133. Wrcfideh! HIvrdt HeT AT TehIgT aan 8 ?

(1) Eahd drarh gar (2) =i draTe ST gSuR e

(3) BT WA et (4) HeFH IdTe S A ggoR ge

Which of the following soils are formed from basic igneous rocks (basalt) ?

(1) Coarse textured soils (2) Fine textured cracking-clay soils

(3) Light textured soils (4) Medium textured non cracking soils

FHeeHl HHTATS! SR / SPACE FOR ROUGH WORK
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134, He womradt fhar Sftriean disredia /fogma gsoumT a1 IR o deeiea Her qofl e
TR,
(1) ER=hIfus (2) HIfSTeRT wToft (SHITeRYUTE UTult)
(3) TECATSRYUTT HTOf (4) T ShaeRuT=r Troft

The water held by surface tension forces as a continuous film around the soil particles
or water retained within soil pores i1s known as

(1) Hygroscopic water (2) Capillary water

(38) Gravitational water (4) Non-capillary water

135. T veruTel Usheh AT qUR BV SEU - STSHCHSHTHIGA <88 sheretl qroar< Jrm I
TUNTR TR g
(1) TUTER ST (2) ETUE SIS
(3) STSTICHSH TOTR (4) <iferger ST

refers to the volume of water transpired by a plant to produce a unit
quantity of dry matter.

(1) Stomatal transpiration (2) Relative transpiration

(3) Transpiration ratio (4) Lenticular respiration
136. 1 gae STt YgNeh 3TTR.

(1) TN SEATES (2) TRIE ¥R

(3) = (4) TEH TRASNTFTSS

is the primary pollutant of air.
(1) Nitrogen dioxide (2) Nitrate salts
(3) Smoke (4) Sulphur trioxide

137. Grefierdeh! Smyed Sdieht defea v faum &R A ?
(1) Hre FrmomaE Femrdean seud, derh B 9 I agdi= ST har S,
(2) SYEd AT qHiEr AR I,
(3) e guaa Irdrd.
(4) v= fafaea, Tofieon swoarsE () i Jafaee fifess=n T S S,
Which of the following statement related to sustainable agriculture is not true ?
(1) Cultivation methods, crop rotations and biological methods are used to control

the pests.

(2) The ecology of sustainable agriculture is unstable.
(3) Food materials are safe.
(4) High diversity, renewable and biodegradable inputs are used.

HH HIMETESI AN / SPACE FOR ROUGH WORK P.T.O.
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138. Wrellerdeht hivrar Hiv-gamm faum yramw @& 2
(1) ufyadt feae (2) ufgaet war a7for e
(3) HewaH (4) TS YBSR IMT ke
Which of the following is not a Agro-climatic zone of India ?
(1) Western Himalayan (2) Western Plateau and Hills
(3) Sundarbans (4) Central Plateau and Hills
139. Swr=A wh S fafauden gadma wrefiedeht siomen guew T ?
(1) <ot JeTH (2) TS I
(3) TSI AR (4) SowEes & &
Which of the following is not included in the in-situ biodiversity conservation ?
(1) Botanical Gardens (2) National Parks
(3) Wildlife Sanctuaries (4) Biosphere Reserves
140. 7 fafése fopaien v s sHevarer s Twen deavarh wfea fhar a3
3R,
(1) 3oy (2) I s
(3) aTeiie™ (4) ISP
1s a procedure or formula for solving a problem based on conducting a
sequence of specified actions.
(1) Azimuth (2) Atomic clock
(3) Algorithm (4) Attribute
141.

Qe Tor fwier gloenandt feptan sitae s ot e quirere TR g TavaTe
PELSI] TR,

(1) g1 wfes (2) TR JEHI

(3) I e (4) 31 AR

The mechanism of with stand in stress condition of crops by completing air life cycle
before water stress develops is termed as

(1) Drought tolerance (2) Drought escaping
(3) Drought avoidance (4) Drought resistance

FHTHT HHTEST AT / SPACE FOR ROUGH WORK
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142. a1 H9d aerdt e = R aTe S qrvErETd TR i
AT SITal.
(1) srfivrad (2) Tl qEIRTEST dTEd A
(3) Iuvi goft o (4) TS BT gq
Water used by crop plants for metabolic activities is also considered in
(1) evapotranspiration (2) surface runoff of water
(3) consumptive use of water (4) water erosion
143. YaTE VIS SICHRET e TSI BIU=A ATd Al i TEUITd.
(1) et gu (2) uBl/3MENS T
(3) wETH gq (4) = g
Removal of soil by runoff water through small finger-like channels is termed as
(1) Gully erosion (2) Rill erosion
(3) Slip erosion (4) Sheet erosion
144. @i faam fommma o=
(A) : ST aToaT=l ST TR 3T,
(R) : 961 &5T=a1 STRAIER qroft SfiFta Teht THTeR o= SUHTa S,
(1) (A) 3 (R) Tt Ehift 3tmed
(2) (A) 3T (R) St SUS 3TRd
(3) (A) U R 90 (R) TH 3R
(4) (A) THE 3R 901 (R) SO 37
Consider the following statements :
(A) : The water potential is negative in soils.
(R) : Water moves from one position to another in soil against the force fields to
which it is subjected.
(1) Both (A) and (R) are false
(2) Both (A) and (R) are true
(3) A is true but R is false
(4) Ais false but R is true
HoAT HHTETES! SR / SPACE FOR ROUGH WORK P.T.O.
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145. 2 i 1fe (3=) e wEAfer IR,
@ 9@ (2) il
(3) TR (4) U e (YRET)
crop is a high tolerant to salinity.
(1) Tomato (2) Onion
(3) Carrot (4) Sugarbeet
146. ST MM s sufia anfor fi aleadeeiierat smaha Fifrssien sEam T s
A ARG GATET Hee T =1 39 AR,
(1) =mead et (2) = R
(3) T et (4) TS I
aims at optimising profitability and protecting environment through
efficient use of inputs based on time circumstances and spatial variability of soils
and crops.
(1) Sustainable agriculture (2) Organic farming
(3) Precision farming (4) Protective agriculture
147. B AT qfiA Seien died wielier o AR
1) ‘T g @ ‘& gt
(3) i gHE (4) Tl
is the unconsolidated material underlying the solum.
(1) ‘A’ horizon (2) ‘B horizon
(3) ‘C’ horizon (4) Regolith
148. &1 fShan e Siftfien gseumer @ive werd s Sivare whsg TEUTArd.
(1) IR @) Fegfem
(3) WISHRH (4) e FrEw

The process of accumulation of mineral material on the surface of soil either by air
or water is known as

(1) Cumulization (2) Illuviation
(3) Solodization (4) Sedimentation
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149. FivETe ggd IRFHE) grdeaHat Sttt /g sEter fauia afong g e

Y TEUEATd.
(1) Sftrfrn et @
(8) SiftFe TmeefieRton

(2) v+ gfea g
(4) T @l

Any addition of substances to soil that may cause adverse effect on its functioning

1s known as .
(1) Soil degradation
(3) Soil acidification

(2) Soil contamination
(4) Soil mineralisation

150. @refiel I gAT Jo3aT
o . |
famog,

[ wEsfem afeterdet

1. TEsnfeam g

I, Tenfey STaifaesn

IV. TRrsnfsem heiet
1 I-c II-a
2 I-a 1II-b
3) I-d II-c
4 I-c II-d
Match the following :
List -1
Bacteria

Imr-d
II-d
II-a
IIT—-a

L
II.
I11.
IV.

)
(2)
®3)
(4)

Rhizobium meliltoli
Rhizobium trifoli

Rhizobium japonicum

Rhizobium phaseoli

I-c¢c II-a
I-a II-b
I-d IT-c
I-c II-d

IIr-d
Imr-d
I -a
III-a

o P

e

IV-b
IV-c
IV-b
IV-b

TrEl - 11
st /=nffa
e
=

AT FeAreat

IHHBITHT

List - II
Legumes
Soybean
Beans

Red clover
Alfalfa

HTHT HHTETS A / SPACE FOR ROUGH WORK
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® g fafga Saen fafire Srfa Fo3 @ (% o) e, TEgftrehefaie ITufeR a1 sm
ISR He= B A q HA] FUATAT I Hel IR, I TFA TS T ATTAR INGATE IEAH
I hele “THRmed g AR ey warsas s -s2” A WadaEn Sran
HOATT I T S AT HUTA Teh FuTH] HRISTETAT 07/ Fhat T02 U g9 AT cerar ey
9T Biga.

(9 e TAYfETRETE! ST fafed HAeh Fes TocAHal IeTRIeT & YRR Tad alat T HETER
U3 SAE WA 3R, W Tlien hellenat Suarge| SHEar HTTen STRuie HiT-1 GusTHIhe 7

Feroran wa w0t streva IR,
AHAT I
9.3%. 201. < A TR HOAES BV T THS hA ?
(1) @ eare s (2) 3varEg femmamR
(3) TN YHHIET T (4) TUTeHT TMiEet

T I AR W (3) TS TS UF 3@ AR, e 91 T W (3)”
BIgel. AT WIS T 3. 201 FHe Ia-0is () % ade lud
BRThd HE SRAAT ATETIH AR,

%20, O @ @ ®

I TGdH T SRAGSETR I Felsh FATeN qETT IH-shHieh 81 qraTell Sadaie
et ITABRRES 1 T T -FHhEHRIT Helid g quiasl SRk H&7
SREATET. EThRAl e hTesdl TSl SiceTi= aTuRTe, Uf=et o oIga) U o 4.

TS HEEG ST / SPACE FOR ROUGH WORK



